STEP 1

WITH SOMEONE'S HELP, WE FLIP THE DECK OVER,
LOOKING TO POSITIONTHE DECK, LOOKING TO POSITION
THE HOLES WITH THE BASE,WHEN WE HAVE
THEM IN THE POSITION OF THE HOLES,

WE PLACE THE WE PLACE THE
BOLT SHOWN IN FIGURE A.

’ INTERNATIONAL

FURNITURE DIRECT, LLC

SPLIT LOCK WASHER 5/16
% FLAT WASHER 5/16 X 1

NOTE: PLACE THE BASES WITH THE

POSITION SCREWS AS SHOWN IN FIGURE B.
POSITION
P FIG B

\:==/

BUTTON SOCKET SCREW 5/16 X 1"

STEP 2

ONCE THE BASES ARE SCREWED TOGETHER WITH THE COVER
WITH THE HELP OF SOMEONE WE FLIP THE FURNITURE AND
PLACE IT IN THE DESIRED LOCATION

DESCRIPTION
BUTTON SOCKET SCREW 5/16 X 1"
SPLIT LOCK WASHER 5/16
FLAT WASHER 5/16 X 1
ALLEN KEY 3/16 1

© | 0| © |FH

ITEM:

ASSEMBLING INSTRUCTIONS

I-SOF-E002

)
Ny



ITEM DESCRIPTION #PZ
1RON003  RONDANA PLANA 5/16 X 1" NEGRA 8
TRONO11  |RONDANA DE PRESION 5/16 8
1RONO008 |TORNILLO ALLEN CABEZA BOLA 5/16 X 1" 8
THER251  |LLAVE ALLEN 3/16 1

. 0@ INTERNATIONAL

ITEM:

ASSEMBLING INSTRUCTIONS

I-SOF-E002




	Hoja1
	Vista de dibujo1
	Vista de dibujo2
	Vista de detalle A (1 : 8)

	Hoja1(2)

